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E reco/E_truth: eta 1.0 - 1.37
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E reco/E_truth: eta 1.55-1.8
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E reco/E_truth: eta 1.8 -2.47
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Invariant Mass: eta 0.0-1.0
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Invariant Mass Ratio: eta 0.0 -1.0
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Invariant Mass: eta 1.0 — 1.37
Invariant Mass distribution in concentric rings of dR (0.0 - 0.1)
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Invariant Mass Ratio: eta 1.0 - 1.37
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Invariant Mass: eta 1.55 - 1.8
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Invariant Mass distribution in concentric rings of dR (0.0 - 0.1)
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Invariant Mass Ratio: eta 1.55 - 1.8
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Invariant Mass: eta 1.55 - 1.8
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Invariant Mass distribution in concentric rings of dR (0.0 - 0.1)
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Invariant Mass Ratio: eta 1.55 - 1.8
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